3.

a =1
a,=a,-1=1-1=0
a,=3
a4=a3—1=2
a5=5
a6=a5—1=4
w=M
=8, —1=10

+

O+1+2+...+10+11 =

n=2 icin a,=42-1=7
n=3 icin a,=a,=7
n=4 icin a,=44-1=15
n=>5 icin a;=a,=15 olur

3tek = a3=5.3+2=17
6¢ift = a,=6°-7=29
O halde a,+a,=17+29=46 olur.
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a,=3.a, =3
_ _ 2
a,=3.4a,=3
_ _n3
,=3.a,=3
_ n22
a23_3
_ n23
a24_3
_ n24
a25_3
_ n2
a26_35
8y Ft8% _ 3%+3% _3*(1+3)
=66 olur. a2s 3% 3%
Cevap: E =9.4
=36
Cevap: E
5
E
>
fs 3., 2" T(ne)l 2" (n+ 1)
=7 A, T 2"~ 1 n! Tty
50
5 22 T2(n+1)
= on-T
=2n+2
Cevap: C
Cevap: E
x—1+2
o Ao -T2 g By
. ax 3X+2 ()(*1’)’[ M
(x+2)! 3
_X+2
=3 =5
Xx+2=15
x =13 olur.
Cevap: C Cevap: C
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kn+6
a,= n+1
n=2igina2=2k3—+6=4
2k+6=12
2k=6 = k=3
_3n+6
3an_ n+1
n=>5igina, = 355:16 =%= % olur.
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a,=255=2°-1 = 11.

+ n=7 —>a=2a_+1 - 265=2a_+1 - a=127=2"1 =
&
_ _ _ _@R_o6_1
n=6 — a6_2.a5+1 — 127_2a5+1 - a5_63_2 —1 §
: o
[TR]
a=3=2-1 ¢
Cevap: B
3a,+4 33+4 _ 13
n=1—>82 3 3 _T
3a,+4 _3 +4 43414
_ 2 3 +1.
n=2-a=—3 =""3 3
17
3a;+4 33 *t4 43424
n=3—>a4= 3 = 3 3
13+84 45
n=9—>a10= ................... — 73 —3—15
Cevap: A

n=1 asaldegil » a,=1?-2 =-1
n=2 asal - a,=22-1=3
n=3 asal - a,=23-1=5
n=4 asaldegil » a,=4"-2 =14

Ohaldea1+a2+a3+a4=—1 +3+5+14=21 olur.

Cevap: B
14
n=13 = a,=5.34;
- _13
n=12 = a4 ="5%.3%,
12
n= o 32 =2 Ay
13 12
8.14 =142.7.T.a11
M 13 12
188 =55 2 A
13
1 =7.a11
8
a4y =33
Cevap: A




